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[EL

Cricket

Q.4 7§ T Felr & TR WG F HTIA S < 4 §1 I R A I A T WG =

ST 1+ 9§ S| A & wehver £ oy e

Present ages of Sad and Satheesh are in the ratio of 5 : 4 respectively. Three years hence,
the ratio of their ages will become 11 : 9 respectively. 'What is Satheesh's present age in
years?

Ans ‘1_22
V224
X321
X 423

Q.5 #ier o= #5T § 4 F T meEE i T 0.5 et T fT

nia= F=1 T #ein
The kinetic enargy of a ball weighing 0.5 kg moving with a velocity of L m/s will be:

Ans x1.|25@'
12J
maa@'
8J
Janﬁ
LJ
16 ST

16 4
Qf s RT Fam s S & d g &

V&

r .

Question 1D : 9864492573
Status : Answered
Chosen Option ;2

4

Question ID : 9864494055
Status : Answered
Chosen Option 4

L/

o

Select the option that ﬁummmmkspminﬂxw&h!m Figure.

S7a
L
N

Nz

K

¥




X*t-k

Q.7 m#mtm.ﬁmtljm?mmmmh?ﬂmk

Boan
According to Ohm’s law, if current (1) increases and potential difference (V) remains
constant, then:

P xj_mm%
resistance increases
X ; fasarar ue S g
potential difference decreases
| ety smfafde e &
resistance unchanged
¢4qﬁi’mma‘rm?

resistance decreases

O 3irsirer o we 310y Foraet SOy A &2
How many atoms are present in one molecule of O

Ans x 1.2
X21
vi3

X 44

Status : Not Answered

Question |D : 9864493608
Chosen Option : -

x

Q9 ] Fovem v R & v el
T F WEET T FEE F Y S e Quemnlnjim1ﬂ
Which is the political party started by Telugu film actor Status - Answered

=2
77
with the Indian Natiol Congress? ' " ¢ Chosen Option : 1
Ans o fovor sréf E

~<
Nava Nirman Party

. HTYT 92T qréf
Andhra Pride Party
., A e et
Telugu Desam Party
| S TSA A
Praja Rajyam Party
10 e g WL [ Question D 9864492879

X

Status - Answered
Chosen Option : 2

(- D9~ (-2) x (- 8)} =7
Solve the following:

(- H{19- (- 2) x (- 8)} =2

Ans X 1.140
X2 -140



v 12
X412

n fe=fof@e & d =i @ ver e Ot e Question ID : 9864492500

5 Answered
Which of the following numbers is a perfect square? mo;ﬁ :‘m
Ans, K 1.333

X 2 327
X 3192
W i 441

2 PR vl & 9 3 &Y ggET

Question |0 : 9864494097
Status - Not Answered

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12, 20, 32, 42, 56, 72
A €172
X 256
X320
v 32

Q13 for o gemer w7 Bew &t o s ST
e & (@

mtmimmﬂzﬁﬂqﬁyh é
AT
g

I. =i g & e o Tl gE O e TE

. wf=ga & #e wru= o BT # gfa & we E
Consider the given statement and decide which of the given assumption{s) is (are)
implicit '

Question 1D ; 9864494245
Status : Answered
Chosen Option -3

Statement:
The train fares have increased by 25%; with immediate effect.

Assumptions:

1. People still prefer travelling by train despite the increase.
. Other modes of commutation may also increase their fares.

Ans 1] 3T 2 2=t g =& &
Neither assumption I nor II is implicit.
, ae AT 2 fafa 7
Only assumption II is implicit.
| e Agan 1 fafea &
Only assumption I is implicit.

x

v



413ﬂ12a‘m’iﬁn‘3?r§|

Both assumptions I and II are implicit.

X

Q.14 i 2t afiers =7 15 wuw & fard on ot o a7 60 xS S ot wE

T B W AT T 2,200 @ o w B, A SEa s e e

Veer spends 15% of his monthly income on the house rent and 6096 of the rest on.
heuschold expenditure. If he saves ¥ 2210, what is his monthly income?

Ans 3 1. ¥ 8,000
X 2 T 7,500
v 5 %6,500
X 4 7,000

Question 1D
Status
Chosen Option :

19864492607
cAnswered
3

Q.15 qrrafes oit & # #2de & Fia 3 7l o o o At e ERE
o

Among chemical properties, Mendeleev concentrated on the compousds formed by the
elements with:

BT i
Hydrogen and Oxygen
o FrEsea i wifzas
Hydrogen and Sodium
R
Carbon and Hydrogen
x 4 T AR WfFEA
Carbon and Sodium

Ans

X

Question 1D - 9864493373
. Status - Answered
ion <1

Q.16

reproduces by multiple fission.
TEATH
Rhizopus
| CASHIRTH
Plasmodium
75 2
Planaria

AT

Yeast

Ans

b

v

!

PV,
$&~ Question 1D : 98644934565

Status : Not Answered
Chosen Option ; =

Q7 ztgemmst 7 Torawa 0,768 € I T AT W 1.6 8, A gEd wem e
Hifm
The product of two decimals is 0.768. If one of the decimal number is 1.6, find the other.

< 1.047
v 2 048
X 3037
X 4042

Ans

Question |0 : 9864492561
Status : Answered
Chosen Option : 2

Q.18 v =im 90 o O & 20 e wmar §) 25 fee & dtow o e
Ifms wEm?
A Lawn roller makes 20 revolutions in one hour. The radians it muns through 25 mimntes is

Ans

Question 1D ;9864492476
Status : Not Answered
Chosen Opfion ;-




v 2
x2150n

x 5 250

3

50n
4
X T

O SRfafla w7 & ¥ W e &1 939 FL) Question ID 9864494305

Status :Answered
Chosen Option :2

€ ¥ S A

Select the odd character out of the following series.

e

Ans x 1. €
v2A
xX3$
XY
. m—"
Q.20 R=RARAI vy &, wafw (? FRe R HAAR, TR N i L/ % ¥ j
) g L _Question ID : 9864494147
HAATRIE ) R T e 3 ¥ 3R MW H T7A B
A, BC, DEF, GHIJ. ? \ Status :Answered
In the following series. oue terw is missing as shown by the question mark (2). Select the Chosen Option : 4

missing term from the given options.
A, BC, DEF. GHU, ?
Ang: 20 L XY ZA
X 2 TUVW
X 3 PQRS
v ¢« KLMNO

Q.21 A & HOT FARNF (HT FFIA) 1 TR & F @e 2017 & R
@ #F & 39 #Be sk w R

Which major bank has launched the ‘Unnati Credit Card' in 2017 to cnhance cxedit n e
inclusion in India? Chosen Option :1

Question ID :9864492418
Status : Answered

e, veew dF
Axis Bank
: TH.&LHTE.
SBI
o, R AL IE,

ICICI Bank
TR te W dF
HDFC Bank

X 4

Q.22 FEFa ) WO 7y 7y Reas Tl 57, A § ¥ 7w v w7 78
g y?

Which is the form of eneigy that does NOT occur while siding a bicycle?
Ans

Question ID : 9864493041
Status :Answered
Chosen Option :4




o e x|
Kinetic energy
x , T Far
Heat energy
| T Fr
Mechanical energy
s T o
Chemical energy

x

Q.23 ve T srdioa. (pH) 7= 3 & S ST (pH) A SEEST 6 @Y AT E, AR HY
T WA A A A
The pH of a sohistion is 3, When its pH changes to 6, then H* ion concentration:

L X1 2 T[T ¢ AT g
increases 2 times
E_Ehﬂ'ﬂ?-lTﬁGll?ﬁ%I
increases three times
1000 T[T A B AT 1
decreases 1000 times
. 100 T[T & &Y AT 1
decreases 100 times

Question 1D ;9864493070
Status : Not Answered

x

v

x

q'z‘ . 3
T | FwEa | Fiew | i i Question 1D - 9864493954

T ar % Status : Answered

Chosen Option -4

200 150 50

- 200 100 66.6

150 S0 100

ol 0O @ »

120 - 80 2%

for ame sitwEl & TUT 9T T C B R AR E e ¥ (ow
ST F Uit e

City | Population | Literate | Illiterate | % of
literates

200 150 50

- 200 100 666
150 50 100 -
120 : a0 25

gin| o=

Based on the given data, the percentage of literates in City C is (round 1o one
decimal),

AR K338
"2323
X 3345
v 33.3

Q.25 537 T A TIAES WEESE § wE-Aeyms o AfEs, sl s )
o e ; Question 1D : 9864492364

Name the Indian entrepreneur, co-founder and owner of India‘s low cost airline Spicelet. Status : Answered
Ans Chosen Oplion : 1




v

52

53

x

Ajay Singh
s #Aeear
| Vijay Mallya
{d« TICT
Ratan Tata

Foed IR, MR=TYT
Captain G.R. Gopinath

Q.ZEQWWWMHmﬂﬂ#ﬂﬂmﬂ#mw
Hatatea

Ans

I

X, Y F 9o 2 ¢ T ofy o) wiuw fr i e oy W § oA 5
sThamETR S T

THURO:

1. 3T IR THu e wwm s b

2. X, Y ga & 7w gEa gl
Consider the given argument and decide which of the given Hs}mn i (are) impHei.

Argument:
% advised ¥ that if he/she wants to study Management, hefshe should join 1.

Assumptions:

1. ™™ provides good Management education,
2. X listens to the advice given by Y.

X

b

x

¥ qEUROT 2 AR g
Only assumption 2 is implicit.
7 ar 13k 7 & 2 safRad

Neither 1 nor 2 is implicit.
Faer TEUROT 1 dafAge

Only assumption 1 is implicit.

.1 3 2 @ e st

Both 1 and 2 are implicit.

— =

Question 1D : 9864494070
Status : Answered

Ghiesen Opticn © 3
e

Qi A T T mEE I A e AT SR E S
e d g

When a ray of light travels from a denser mediaem to a raser medinm, it bemds:

Ans

X

X

P ® gT Jur A 9% S
away from the normal and speeds up

HfFrera & 3R Fur fF 7T S g
towards the normal and speeds up

HFerm & gy T ol @ Fr §

away from the normal and slows down

Question |1D ;9864493224
Status : Not Answered
Chosen Oplion ;-




| i # 3R Fur o g S ¥

x
towards the normal and slows down

028 gy o o wwaat & = Anew 32 R E e

What is the mean of the first five Triangular Numbers? Stttk Anmmared
Ans ¥1 = Chosen Option ;-

X26

Xag

X445
Q2 JfE cosecO + cotf = 2 g A cot§ =? Question ID 9864493038

If cosec@ + cot@ = 2,thencotf =? e f'f"”‘““"md
Ans x 1.0 .

X205

X

v 4 0.75

Q30 fr3ft s 2016 F s ¥ BT o=aREs F
Who was the flag bearer for India at the 2016 Rio Olyn

Ana wrefr wfoeR

> o
Sakshi Malik
v . HiEe R
Abhinav Bindra
x 5 T gl
Saina Nehwal
x4 drar. Ty
P.V. Sindhu

Q.31

ffeas #t oiger, Wit S f & el 99 & e saeeE a7 Question ID - 9864493514

Except Helinm, all noble gases have how many :wm the outermost shell? Status : Answered
Chosen O 3
Ans B 4 6 pion
X210
V38
K44
—_—
Q.32 frg wine fem Afdenh it AfRfd & 2017 & 927 w9 aiiw 2

Question |D : 9864492303

xhwlmfh?h and the PET. file ward in : e e
ml:? 5 setress and celebrity won A ‘Person of Year” a Option :2
i e =rq=r
.G j
Priyanka Chopra



Xa E

- Deepika Padukone

Q33 2w v Rwedt # ¥ w8 wEST A F TGT Question ID : 9864493753

Status - Answered
People : Person Chosen Option : 3
Choose the correct analogous word pair from the given alternatives.

People : Person

Ars o+ Fungus : Fungi
X 2 Cacti : Cactus
X 3 Radius : Radii
# 4 Nucleus : Nuclei

Q.34 2w 7o W e 98 i @A B e sew &R & T Taeefefae
Tt & & i v g

BT BT A, B C, D 3T E # ¥ Tww w@mun w7

A

1. A B, C, D 37 E wrsfas weme £
2. B sweT wEm F

Consider the given question and decide which of the
answer the question.

Which of the natural numbers A, B, C, D and E are

Statements:

1. A, B, C, D and E are natural numbers.
2. B is a prime pumber.

Ans (1
Rraema s s &3 & Pwar & 1 3k
Meither 1 nor 2 is sufficient to answer the given question.

X2

fow T e W T 3k fRT 1 sk guew B, SRR 2 e oo o
I!.:Juue is sufficient while I alone iz not sufficient to answer the given question.

X3

for T Wi W SeT &4 & AT 2 aiden wotew §, sl 1 e odtew Wl
Ta]mk sufficient while | alone is not sufficient to answer the given question.

X4

T 1T o & 3o & & e 1 3k 2 =t v #

Both 1 and 2 are sufficient to answer the given question.

Q.35 defifew dent & PT ortee TRl S T UF oS S ST TE Siend
o w T o & few (frustum) 3 ) FoRe (frustum) @ amed zmme 5
Fertey T 2 WA ¥, Y weww B San 7 Eniver b ad e SIalls cHotAREwerer
ST T ST Chosen Option : -

A shuttle cock used for playing badminton has the shape of & frustum of a cone mounted
on & hemisphere. The extemnal diameters of the firustum are Scm and 2em, the height of the
entire shuttle cock is. Tem. Find the external surface anea.

s | 74.30 T AT

.9
74.30 cm®

Cuestion |D : 9864492591




, 74.29 T TEHRT

74.29 cm?®

80 91 HAHRET

v &
80 cm?

, 73.38 ECigE-rar-ireg

73.38 cm?

x

x

Q.36 & wk s &, Remwt 8 09 § S s Ao ain & wEw # fanfae A

At it 3 # FEm F e Reafea @ & Question ID : 9864494074

Status - Answered
Chosen Option - 2

563248880266588343
In the given series, how mamy 85 are there that ane not divisible by the member fo its lefi
bt completely divisible by the mumber to its right.

S63245580266588343

Ans X13
v
x32
X4

Q.37 10 xamy 1 Gramey fed o o e mEw 20 m Tan & A

o faset afemr & ofer @i

The selling price of an item inclusive of a 10% profit was ¥ 440
percentage loss if the item was sold for ¥ 3707

Ans X 1 g
V215
X384
X 4625

Q.38 wrfr mEie S O F, fee mefew dmet
T quR dEAT fistEr aee s T §) ST O

Indian athlete Neeraj Chopra created history by becoming the first Ind
world athletics championship. What was his sport™

Lo e $a

F. R
Shot put

v S hF
Javelin throw
r=-II

x4 EE
Long jump

x o T e
Discus throw

Q.39 fr v Tt & ¥ w9 Peetates weimrm & 0 5 aamnie = F

Question |0 : 9864494121
AT F9gET 87

Status - Answered
Chosen Option 2

122 + 345 -1 = 1011 = 337 = 2
Select the option that can replace the *7* symbol in the following equation,

122+ 345-1 % 1011 +337=2

Ans x1446



v 464
X 5 644
X 4 460
Qe s i A P r o mmr R aatmam w &

A wge & ¥ 0 e 87
The tendency of undisturbed objects to stay &t rest or to keep moving with the same

Question 1D : 9864493619
Status - Answered

velocity is called . Chosen Option :1
i A
* x,_:q'aﬂ
momentum
R
X2
force
Klm‘r
energy
e
inertia

Q41 vr zafFa o 1 v 10 Prwtder awer # @ g o qE wer R
AT wwen & 3 o o iR HE A o 6 e e
mfET w3 s R A Ew Rw A

A man walks 10 ks towards east, then takes a right turm and walks 8 km and ag
aleft and walks 6 k. In which direction s the man with respect 1o hirs startig ¢

Ans

Xz
South west

A
North west
gfeyor g
v L

South east

Q.42 favir Hifee & #tw @ Freed By v Fuw & FHQT e w1 §

x

Question 1D ;9864493810
— Status  Answered

ﬁwwmmtmm.wm#m;maaﬁmﬁ Chosen Option :3
Y A FEEH W A e 4

Fremk:

1. =t St wr wEw R S AR

2. it F7vst ® winh & S & B w0 == o
D::ide which of the conclusions logically follows) from the information given in the
salement.

Statements
Poverty is increasing because politicians don"t understand poverty nor do they know
anything about the problems faced by the poor,

Conclusions:
1. All politicians should be replaced.
2. All politicians should be asked to live m poor conditions.

s % o fswd 2 HgETOT FIAT &

Only conclusion 2 follows



Faor sy 1 FTar

N HeTETOT g
Only conclusion 1 follows

1 3R 2 @t argwRor F §
Both 1 and 2 follow

AT AT & 2 HTEOT A
Neither 1 nor 2 follows

x

x

v

Q.43 wrm TEndt = AT S & i & e e & | R i w s
AR
Which of the following gases is used to prevent food material from getting oxidised?

Ans XLW

Question 1D ;9864493209
Status - Answered

Chlorine

e
Hydrogen
TR
Oxygen

CIEE D]

Nitrogen

K-z

o3

Wi

Q.44 wfeag e gFaw e SifigEw el fap
k2

The science fiction book “The Extra-Temrestrial D

e e

Samit Basu

Q.45 & Fmmst & quwew 0432 {1 o o= Tow 16 & & ol vew o
The product of two mumbers 15 0,432, One of the members is 1.6, What is the other

Question |D : 9864492961

becd Status : Answered
Ans 4 5. Chosen Option : 2
v 20.27
X 327
X 4 0.027
Q.46

Question 1D ;9864494133
Status : Answered
Chosen Option : 4




A s & frew pow & T svgen B & oow A & et & @ wn

k|3
ORRKE
| 2
Answer Figures

S did

wAET 17 - Problem Figure
et &IT - Answer Figures
Select the Amswer Figure that fits in the blank space in the given Problem Figure.

Problem Figure
+1k |3k
ORIC
|| 2

Answer Figures

Ans X1 D
<2 A
v:B
X4C

Q4T o v st F wEfE S F duw

T - e o el
Select the missing word from the given related pair of

Ancient : Old 2 Bedspread :

Ans 'ﬂ'ﬂ'

e ﬁ#mm%ﬂw#mmm?ﬂ Question 1D : 9864493111
The metal that can be cut with a knife is: Status : Answered

Ans Hﬁ Chosen Option 1
e
Sodium




araT

Copper

r. ) E
Aluminium

X o e

Iron

>z

QM PR S iR w e e s R A

Ans

Question 1D ; 9864493653
Status : Answered

a7 F T
Chosen Option © 2

AT T R SR A R I s R Rt T aw
W T O

Y

1.8 Z {93 w1 g F 10 o S5 A

cqmE N m Szl
Consider the given question and degide which of the following statements is sufficient 1o
answer the question,

The trains are very puncieal in Makaysia. For a maximum of how long should Mr. £ wait
for the train?

Statements:

1. Mr. Z had reached the railways station at 10 a.m.
Z. There is a train at 11 & m. and the next train is af 12 p. m.

X 3

Either statement 1 or 2 is s
X 4
Hehell U= 2 Tied § Faf Fhar 1 FUg8%
Statement 2 alone is sufficient while 1 alone is i suffic

Q.50 iy & 7 oiE AET F FES OF W 9O aE O wAp

Ans

Question |0 : 9864493751
Status - Mot Answered
Chosen Option ; -

# @t st e g

&) o

F

CH®
Qo::n

Use each of the below figures only once and form three groups, The three groups so
formed are:

) ®|©
CHOA
o==|®
X 1(1,3,8), (2.5,6), (4,7.9)
©2(1,9,9), (2,3,6), (4,7,8)
v :(1,3,9), (2,5,6), (4,7,8)
X+ (1,3,6), (2,5.9), (4,7,8)




Q.51 gt o frwr ot 3F ofall & o & ot & SR dm @l F 7
In which of the flowering plants are buds produced in the notches along the leal margin?

CQuestion ID 9864493317
Status ; Answered

i X1 Felr Chosen Option :2

Banana

x2 FTATRISET
Bryophyta

3 :
Bryophyllum

X 4 iRl
Rose

Q52w et Fgfm EE A cm st A e s w R == &
wfatda & &7
When a compressed slinky is released it converts potential energy into:
Ans m 3;.5&
X

D 9864493582
Answered

&% e & HTUTEE I &

The molecular formula of Propane
Ans  of 1 C3Hg

X 2 C,H, 6
X 3. CHy

X 4 CgHyo

CQuestion 1D ;9864493152
Status : Answered
Chosen Option :1

Q.54
Question |0 : 9864493676

Status - Answered
Chosen Option 1




= 1 7G
o= | Wee | TEE |
2001| 21,500 | 200 | ¥500 | 100
2002| ¥2,600 | 300 | T600 | T200
2003 | 3,200 | T150 | ¥700 | 150
2004 | 4,100 | T250 | T650 | T125
2005| ¥5,000 | 200 | ¥800 | ¥150
2006| 5,200 | 100 | T750 | T175

a¥

wfer 3 stwe 397, 39 2001 - 2006 & St Ghaer &1

Items of Expenditure
Salary | Food | Medicine | Tax
2001 | ¥1,500 | T200| T 500 | T 100
2002 [T2,600 [T300 | 600 | X200
2003 | ¥3,200|T150| T700 | T150
2004 | T4,100 [ T250| T650 | T125
2005 1 T5.000[T200| T800 | T 150
2006 | 5200 ({F100f T 750 175

The average salary per vear during period 2001 - 2006 is:
Ans o 1 3,600
X 2 3,400

X 3 3,800

X 4 3,500

Year

Q.55 agﬁ:rmma‘rgﬂm &
Find the fraction which is as much greater

Ans 59
1. —
Xz

- oy

a4

vsZ

84

R

59

O eERTREATFT T GI S & A ASg A 2 e
Which of the following is present in the centre of a flower? Status :Answered
Ans S:i_gq_ Chosen Option -1
e
Carpel
X2 T FET
Stamen
S A g )

Petals

Status : Not Answered
Chosen Option : -

Sepals

Q.57 :
Question 1D - 9864493941

Status : Answered



[ Chosen Option 3 J

] —= Deye T = b
Y ——e s ] ———e Dieapiaed

Boys - % Girls - F2fRal Athletic - f@=Tr Disciplined - spnfa=

¥o7 v 7T @9 AW F, 39wt W S e § o 3w fEeiEat &
oy § S sepnfee o §2

"
A B
s
1
N "
1 =i By ) —— abdem
Vs cmips [ ] e—em Disaplmed

In the above Venn diagram, what is the sum of the numbers that represent all
athletes who are not disciplined?

ans X127
X211
V16

X413
Q.58 f Zeeciy- tan'x = 5 R 07 < o Guestion ID - 9864492837
Status : Not Answered

If 25ec®x - tan*x = Sand 0° = x = 907, ?
Ans xq_ 30° Chosen Option : -

< 2 90°
X 3. 459
v+ 60°

AN I A @ e A AR Question 1D - 9864492901

The sum of two fractions is E.ﬂnanfthﬂni}%"ﬂhﬂisihemhﬂﬁ'mﬂm? Status : Answered
At ?{ 1 Chosen Option -4

™z
N3
Vil

QB0 il e & oA geme 12 § AN S & 4 B ocdw oo &
1 #E (mole) & T e A & #a @ s w5 39

Atomuc mass of Carbon 15 12 and that of Helium 15 4. State which of the following :
statements 15 true for 1 mole of each of the elements? Chosen Option : -

Ans X1,
@R @1 1 A (mole) A, FHA & 1 AT (mole) 3 IF HE TE0]
g

1 mole of Helium will contain 3 times more atoms than 1 mole of Carbon.

v

BB

Question |D : 9864493408
Status - Not Answered




F4A & 1 #ie (mole) #, AfFTA & 1 A (mole) A HlgE WA & wEW

A

1 mole of Carbon will contain the same number of aloms as present in 1 mole of Helm.
X3

T & 1 A (mole) A, BT & 1 HE (mole) § AR 1 HEm 0w

s g

1 mole of Carbon wall contam one-third the number of atoms present in 1 mele of Helium.

K4
&A@ e 1 (mole) F, @FTH 1 AT (mole) A 3 7 AE T
#en
1 mole of Carbon will contain 3 times more atoms than 1 mole of Helum.

Q.61 &7 & 2175 & =5 & o= ¥ @hy g T =i & @ 5 F .
SF FR 2161 # & R Al @ R wfne # gl gde Quiestion 1D : 9864492688

Deepti bought a set of for T 175, but then had 1o s2il it later to clear old stocks for ¥ e d
a s o 58 )
161, What is the percentage of Toss that she had to fncur? Chosen Option :1

Ans “18

X216
-

X314
X447

Q.62 oo vy & v 2ty A, weiv ez w270 drer F ity 7w w200 e & 9
e 1w 2ty P T = et ST & T SO

In & 900 metres race, Sathish beats Kiran by 270 metres and Rahal by 340 m
many metres does Kiran beat Rabul in the same race?

— b
[ 1 9864482610
batus - Nok.f

n S 0Pt T

Ans 1. 70 | 4 A\
1O
X 3140 \
v < 100 ‘

Which one of the following derives mitrition from pla

5, FOIRET & AT
Malaria Parasite
v FHSICT (Cuscuta)
Cuscuta
. TR AH (Bryophyllum)
Bryophyllum
xa 2

Lice

Status : Not Answered
Chosen Option : -

x

Q.64
Question 1D : 9864493680

Status - Answered
Chosen Option : 2




wér T &t g, A v REw i S w4 ¢

m’\m?/’m'/f\' ]2
A B C D

A
SIA VI
1 2 3 4

Choose the correct figure to replace the question mark.

Problem Figures
8s0®
VALY ?
A B c D
Answer Figures
O &l O
1 2
Ans X14
&3
Va2
X 41
Qss = o, 3 W .
m;mﬁ =0 . T Question ID - 9864492113

Status - Answered
Chosen Option -3

Ans
x1ﬁ|=n§t|7-raﬁia'm

 Nasiruddin Chiragh Dehlavi
v, Y wd f
Sheikh Salim Chisti
x 4, T FETEA
Baba Fakruddin

Q.66 ofy faeh e & Teo & vw avg # wiiewr 37 250 T o ¥ R A e
g = ot 7o Question ID : 9864492788

If a person bought an item for ¥ 60 and sold it at a profit of 24%, the selling price of the Status : Answered
iem it at
i oo AR R ARG 294, ing price S

Ans  of 1 F 75
X 2380
X3ig¥n




X 4384

Q.67 &7 i I9T-71T (Answer Figure) &1 78 Wea HTFfo (Problem Figure) %1

= 3 SR b Question 1D : 9864494057
Status - Answered
Chosen Option ;1
Problem Figure
Answer Figures
) I
B B EF
A B C o]

‘Which of the Answer Figures is the correct water image of the given Problem Figure?

K ka3
Ans X1 C
VA

X3B
X4D
Q8 GrERRE AR TS Fomw
Which of the following regions has the hi y?
x 1 geFhel & T8I o
The Deccan Plateau

Question 1D : 9864493145
Status : Not Answered

Ans Chosen Option : -

Western Ghats

Q.69 eafw g # 333 me~! 1 TH T T FATE, FW G, | FFE A, 333 A Frdr i )
- v o Question |D : 9864493083

Sound Is at & speed of 333 * i the air; thus, in 1 5, adistance of 333 m i S ohsd s ikl
] travels at a i ims™"m au; misa o mis
travelled by: y Cheosen Option © -

Ans 0T
S
particles

T

receiver

X3 i
source

v g 3renfa

disturbance

N2



Q.70 v 150 #Arx = &7 54 freniey oo & ew & o= e AR

Ans

Question ID ;9864492830
Status : Mot Answered
Chosen Option : -

TEWH F 42 FEE A 97 &7 & § A = o w1 o

A 150 m long train, travelling at 54 kmvh, crosses a platform in 42 seconds. What is the
length of the platform?

X1 540 HeX
540 m
480 HreX
480 m
x s 780 HET
780 m
X 630 HeX
630 m

v:

Q.71

i o Fvw F weE A g 3 fav s F swee Tivee e @ de
v gv # @ Tt T a1 wd E

.
Fo ATzl §i
st rard afee A

forem;
1wt s gfeww &
2. mft =l s
Consider the given staterzent as true and decide which of the give
definitely be drawn from e given sttemernts,

Statements:
Soume Actors are busisessmen.
All businessmen are mtelligent.

Conclusions:
1. All actogs are intelligem.
2. All businessmen are actors.,

;13X 2 St sregaor
Both 1 and 2 follow
shaol TSy 1 gavor

Only conclusion 1 follows
v &
o ar 1 AT & 2 HFJAIT FaT &

Neither 1 nor 2 follows

&3

Only conclusion 2 follows

Q.72

Ans

YA FRr s Aot o g b | B, =%
T {E §, 4 Ay # i o7 °F 3, O gEar b o 6 e A
e § v EEY few A A g e

Samarth heading towards north turns right after walking 10m, he tums right again walks
for 4 meters and then he fums left and walks 6km. In which direction he is walking?

Xj_qﬁw
West

Question |D ;9864494287
Status : Answered
Chosen Option :4




x 4 ST

South

QT3 & w§ wgE  w F B was wgEee i e & oA

% Question 1D - 9864493924

Status : Answered

% Chosen Option : 1

Tlhee minimum number of straight lines required 1o construct the given figure is ;

2y

Ans 1.9
vz 11
X310
X412

Q74 Brew 3w v 25 e FA o § o AR w1 =

*Freedom Trail' is a 2.5 mile long passage that offer
Revolution. In which US city would you find this

Ans X 1 m

Denver

v? areeA
Boston

X s FoAdcHhe
Connecticut

X4
Memphis

e
QS roimadsmMomhem s admmalws=m s )
S & 10 =% sy am R & w3 T E? Question D : 9864492752

i T - . Status : Mot Answered
Krish is 5 years younger than Farthiv. Fight vears ago three times the age of Krish was 10
more than twice the age of Parthiv. Find Erish's present age. Chosen Option ; -

v x1_32a’t§‘
32 years
X2 3399
33 years
UL
30 years
i 28 ¢
28 years

X
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